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https://dl.doubtnut.com/l/_OFESFFzFq0bx

93. H0ifeh BDOD DNESET 236965 208 D0
2¢ +y — 5 =0 €900 308 S IO 80
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Adzr +2y+10=0

B.20z 4+ 10y + 30 = 0
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D.3z —2y—4=0
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https://dl.doubtnut.com/l/_OFESFFzFq0bx
https://dl.doubtnut.com/l/_3WqcBgH84GIK
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https://dl.doubtnut.com/l/_3WqcBgH84GIK

95. L, =22 +2y—8=0 308050

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b5CDBfCmoLMT

96. 3z +2ky=2 DB 2x+5+1=0
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o Watch Video Solution



https://dl.doubtnut.com/l/_yH2R55MdeYOW
https://dl.doubtnut.com/l/_HqB8hyAcYsCU

97.2x +y — 5 =0 o080%» 3x — 2y — 4 = 0,
3D DAIBETE 2588 TNZ), APPHED ...

A. 8D

B. ©9c)0¢535)
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Answer:
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https://dl.doubtnut.com/l/_HqB8hyAcYsCU

98.2x +py+ 5 =080 3z +3y—6 =0
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B.p # 4
C.p#3
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o Watch Video Solution



https://dl.doubtnut.com/l/_o0SGptCe42yn
https://dl.doubtnut.com/l/_rrnUftvIcV25

99. k BB0Y) O DenH 22 — ky + 3 = 0 50050

4z + 6y — 5 = 0 DAT0SYE BYen €95)°00?

A3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rrnUftvIcV25

100. 2z +3y=5 o00ad» 4x + ky =10
DNZBTPO 23695 950¢5 e 08 k DeN
A 6
B.5
C.4

D. 1
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o Watch Video Solution



https://dl.doubtnut.com/l/_O6pRcusdOnyS
https://dl.doubtnut.com/l/_wKE02foUKMpN

101. £ #ql ®ONS pr+qy=s DOAD

Iz +my =t 3PoH DDITEPO 2 TwI)

A. €905
B. P30 BY)
C. D3

D. 23<)
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° Watch Video Solution



https://dl.doubtnut.com/l/_wKE02foUKMpN
https://dl.doubtnut.com/l/_ooAmfFFfaqU7

102. 3r+5y =17 0803
(a+bzx+ (a—by=21 3O 29

0905089 IO ¥R G086 (DEN0T Bpen

e90NS .......)
Aa=90b=15
B.a =12,b= — 3
Ca= —12,b= — 3
D.a =3,b=5
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ooAmfFFfaqU7

103. 20 — 3y =7 08030
(a+bz—(a+b—3)y=4(a+b) 3PSO
DAIBETO 23¢9 D)0 23¢8 900S §08
IS DO DSBP?

Aa+b—-—6=0

B.a+b+6=0

C.a+5 =0

D.3a +2b—-6=0
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https://dl.doubtnut.com/l/_ooAmfFFfaqU7
https://dl.doubtnut.com/l/_Ioz7OSm6u7LU
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104. 2+ 3y =17 0803

20 + (a + b))y =28  JDIJEPO 25D

eyden B%H08) a, be HEFD0DOE0 v

Aa= —2b
B.b = — 2a
C.a =2b
D.b = 2a

Answer:


https://dl.doubtnut.com/l/_Ioz7OSm6u7LU
https://dl.doubtnut.com/l/_f1yFxDAUKg0H
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A. 37°0¢550e0
B. g)ad))C47° 9 066c) Bpen
C. QO D03 e

D. 9055, Bpen S 825903 dpew

Answer:
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https://dl.doubtnut.com/l/_f1yFxDAUKg0H
https://dl.doubtnut.com/l/_JpuBuD2tRoI2

106. 29001928 DDSYTTO) 23¢9 ........

A. 35°0¢58 BeD

B. 905 8en
C. 82505 Bpen

D. 905 e S 82503 den

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JpuBuD2tRoI2
https://dl.doubtnut.com/l/_9jLOjfn7fpJP

107./2z + /3y = 008050 /32 — /8y = 0
923655 020050 508 S ODBFTIO .

A. D019 DAZYBTIPO) 2309

B.aPQdz =0,y =0

C. HX7°0¢58 Bew

D. Q¢5a3 385

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WAP4Q6huSyTy
https://dl.doubtnut.com/l/_w8FeGThGUvWz
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108. Eaz+§y:7 8%y 9r — 10y = 14

30D HADEEET® 2365 ...

A. 9001128 DTTTIO) 23¢9
B. D) 0°58 DIV 23¢9
C. 33 PP 3D €0D0d

D. 2 Qo) ¢

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_w8FeGThGUvWz

109. £ — y = 8 00 3z — 3y =24 &mé&

205 PN covvennee.
Az =10y = — 2
B.x = 2,y = 10
Cz=8y=16
D.z = 10,y =
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bKGT2yHdEoXp
https://dl.doubtnut.com/l/_qov6yrbTt1uD

1M0. xz+y=8 OW

DAZTEFPO 9% PR v
Az =06y=2
B.xt =5y =3
Cz=10y= —2
D. 333D

Answer:

3r + 3y = 21

o Watch Video Solution



https://dl.doubtnut.com/l/_qov6yrbTt1uD

M. 2z + 3y = 18z — 2y = 2 0303) O ..

o Watch Video Solution

112. 3r +4y+7=0 00w
br — Ty — 2 = O&DQ@“@& ..........

A x=-1y=1

B.x=1,y=1

C.x=-1,y=1

D.x=1,y=1


https://dl.doubtnut.com/l/_n8M3x8wSZf2C
https://dl.doubtnut.com/l/_JN5q0zEFnATv
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o Watch Video Solution

113. 22 — y = 5 000 3z + 2y = 11 o
D0 20D v

A.(3,1)

B. (1,-3)

C.(5,-2)

D.(3,-1)


https://dl.doubtnut.com/l/_JN5q0zEFnATv
https://dl.doubtnut.com/l/_1lFnh5fu2y8Z
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A.52
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https://dl.doubtnut.com/l/_1lFnh5fu2y8Z
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https://dl.doubtnut.com/l/_0ZRSKGnlnvsR
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ry ry
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C.— + =6

1 1 1
s ot s
1 1 1
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https://dl.doubtnut.com/l/_oAhEDa89TkB8
https://dl.doubtnut.com/l/_xXqtCBlX1LpX
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https://dl.doubtnut.com/l/_xXqtCBlX1LpX
https://dl.doubtnut.com/l/_x9V7u62F8QeE
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5 2
118. — =1,
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15 7
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T +y T —y
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Abu+2v= —115u+ 7v =10
B.5u — 2v =4,15u + Tv = — 10

C.hu —2v=1,15u — 7Tv = 10


https://dl.doubtnut.com/l/_x9V7u62F8QeE
https://dl.doubtnut.com/l/_e2Zy2aLYJ8tx

D.5u — 2v = 1,15u + 7Tv = 10

Answer:

° Watch Video Solution

119. G0cd “coOépée) 5&)6,5?3 éé@b?g“coo 26 0803 2.8
D0 HBITPA 08 ¢k BeEY. ‘@900 GZAD

DDZBETPO 23¢9 ......

Ax+y=20x =3y

B.x — y = 3,x = 26y


https://dl.doubtnut.com/l/_e2Zy2aLYJ8tx
https://dl.doubtnut.com/l/_VHwmB5wpoE4P

Cx—y= 26 =3y

D.x—y:26,:c:y3

Answer:

o Watch Video Solution

120. “B0C HOQPSE Streres’ 258 $e90 8% S0

ST 10 A HOHID BHoH HadIBEF 2

Ax—+y=180°,z —y = 10°


https://dl.doubtnut.com/l/_VHwmB5wpoE4P
https://dl.doubtnut.com/l/_UPi0kMZLCfxo

B.x+y=90"2 —y=10°

Cxz+y=180",z = 10y

D.x +y =90°,x = 10y

Answer:

o Watch Video Solution

121.  ABCD 2% S8aD  Send)eoss,
A=4y+20, /B=3y—5 ZC = — 4z,

/D = Tz + 5900


https://dl.doubtnut.com/l/_UPi0kMZLCfxo
https://dl.doubtnut.com/l/_w9RQWuy4R0bm

Adxr +4y+160 =07z 4+ 3y + 180 =0

B.dz — 4y +20 =07z + 3y — 10 = 0
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Answer:

o Watch Video Solution

122. 2 + 3y = 11 5805
(m+n)z+ (2m —n)y = 33 39)o%

QoDZTITIPO) 23895 PRIOD 2903050 €900


https://dl.doubtnut.com/l/_w9RQWuy4R0bm
https://dl.doubtnut.com/l/_6TDeamy8qyRw
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o Watch Video Solution

123. 901969 BP0 DADIBETE 2589 TNF), S


https://dl.doubtnut.com/l/_6TDeamy8qyRw
https://dl.doubtnut.com/l/_5i1WZ8mDMKOV

A. 330PF D)ed
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C. ré?égo:be‘_’é
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124. ax + by + c = 0, a,b,c O P “&Oépé?))
@900 508 @) AONNTR) eI 96 Boc SET>D
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https://dl.doubtnut.com/l/_5i1WZ8mDMKOV
https://dl.doubtnut.com/l/_pXlUDnBbViLF

Aa=00800b=0
B.a2+b> =0
C. QQXQ)O)@ a’® = b’

D.a? + b* # 0

Answer:
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125. 6z + (p* +k°)y—32=0
3z +10y =16 =0 AN e}ul0)

909 eD GOP) ...

ANVelovhh)

2329


https://dl.doubtnut.com/l/_pXlUDnBbViLF
https://dl.doubtnut.com/l/_ytVMRvgD4tDR

Ap?+ k=10

B.p? = 20 — k?

C.pP =k +20

D. k% = 20 + p°
Answer:

o Watch Video Solution

126. 508 LS B HeK0.....


https://dl.doubtnut.com/l/_ytVMRvgD4tDR
https://dl.doubtnut.com/l/_CQkuomTsbwLL

A. 9066 3OS D)8 3P0 HDITET®
2055 P DIFR

B. 90001e5 3P DMDIBEPD 2D S
53530
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https://dl.doubtnut.com/l/_CQkuomTsbwLL
https://dl.doubtnut.com/l/_tmB5j23vIvK7

127. 508 QS 905 55,
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129. 308 S (2, -3) Q WPIP O

D3TEI0.....
A2z — 3y = 10
B.2z + 3y = 13
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D.2x + 3y = — 13


https://dl.doubtnut.com/l/_SYoAnHTgHX3k
https://dl.doubtnut.com/l/_tBXddThIS0de
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o Watch Video Solution
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https://dl.doubtnut.com/l/_WVLH8S7GRaDB
https://dl.doubtnut.com/l/_aw0X3yrmmjDz
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D008 DDIBTTO 23¢9 900 p DLV
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https://dl.doubtnut.com/l/_aw0X3yrmmjDz
https://dl.doubtnut.com/l/_EnIOXEhpTzcB
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https://dl.doubtnut.com/l/_EnIOXEhpTzcB
https://dl.doubtnut.com/l/_PlnZtq75LEQn
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135. £ + 3y = 6 O 2z — 3y = 12 3O
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https://dl.doubtnut.com/l/_PlnZtq75LEQn
https://dl.doubtnut.com/l/_tj4qp4FdPzD1
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° Watch Video Solution

136. 3z + y = 18050
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https://dl.doubtnut.com/l/_tj4qp4FdPzD1
https://dl.doubtnut.com/l/_Iv7C3MfRWZTl
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https://dl.doubtnut.com/l/_Iv7C3MfRWZTl
https://dl.doubtnut.com/l/_Dq3ZlP4StWjd
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https://dl.doubtnut.com/l/_Dq3ZlP4StWjd
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https://dl.doubtnut.com/l/_SUOyT8K4TITu
https://dl.doubtnut.com/l/_7IiMIYibnime
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https://dl.doubtnut.com/l/_eaPJqnF2YobU
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https://dl.doubtnut.com/l/_eaPJqnF2YobU
https://dl.doubtnut.com/l/_qhfSuhSfcwUK
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https://dl.doubtnut.com/l/_qhfSuhSfcwUK
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143. — =
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https://dl.doubtnut.com/l/_0cQGlpFvDAgQ
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B.2kx — 3y = 8, — ky = 20
Cx+ky=~kKx—y=10
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Answer:
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https://dl.doubtnut.com/l/_8b9DbpRh4kLi
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https://dl.doubtnut.com/l/_WWlAVxMieDLQ
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https://dl.doubtnut.com/l/_WWlAVxMieDLQ
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https://dl.doubtnut.com/l/_81C4WyO5JMLm
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https://dl.doubtnut.com/l/_z415zhBeCzMt
https://dl.doubtnut.com/l/_7Hrwrwo7IFvg
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https://dl.doubtnut.com/l/_7Hrwrwo7IFvg
https://dl.doubtnut.com/l/_qmSWunHrAFq7
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https://dl.doubtnut.com/l/_qmSWunHrAFq7
https://dl.doubtnut.com/l/_Dbhwi9VQyFgF
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https://dl.doubtnut.com/l/_Ng2qdOodrRs2
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https://dl.doubtnut.com/l/_WXYzVErQRH4t
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https://dl.doubtnut.com/l/_9baew1STYnf5

186. Teenrd D0I® SH0 T SaH) 5 dolle
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https://dl.doubtnut.com/l/_9baew1STYnf5
https://dl.doubtnut.com/l/_foj0z2LPi0fQ
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https://dl.doubtnut.com/l/_CFBGXDLzS0as

D.O

Answer:
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